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*CIZ E(default): SALE ALK, 28X SO CHt O[At X|20|Lt |2|5 H20| 27HssHT SEfYLIC

Ir

#| 49| EH9|QIL|C}. (1% = 100bp, 1bp = 0.01%)

“bp(base point): O|XHES A At [ ARSI
0|2 HMEHIRS0[ALE): 0|22 BYSWO RN £, 2;o| Cs] L, FH S 7| LT
> EXEE U 28 AHE
gz FAAEO SHEHCE XY = U 2202 1) 19| F7H 7| EY 7tsd, 2) et=x2Hol 7t 32| Qlst 7ts4d, 3) =W 7|P=2 &
JH4A 7|CHZO] UZLICE 2HH 2 ARl 9012 1) X[+ &S0 2 I} FAIH o 7t 2) 0|29 Gl F2| 4, 3) JB[A9 M7 &2t £0
d S0 ASLCh g2 Y 7P 2 27| X UBO|AM MY =0 3|AHS0| 7|0 CHH| MATH AN E 2 7ts540] 22 AL E HEtsto] B
54 S2E0| HE AR of|&EL|Ch ZHE, FX|H HaTh G0pUof ofhy| A& 22t YE7t X[&E Ao 2 B ot
RE40| 325D NMFE| HEY FHUSE O E AFOM 8Fg0] 2 L5 430 50| Chet YFROo[M0| =2 ALICE o|of w2t HE
g SEEE FI I3 AL AR D Y 252 20|10 JELCHL SHEE THI|ZH0| 7+ 450] A LIEILX] 2Ot &S 7| M S
Sl 71 7HX| oiH| ME7} 0 BEE2 £=2 & AUt
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T X2 371 € X2 671 22 9 Az 1
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Al 22100420305 H
een i ° 492 16.50 3.55 -
HeERHFA)AY
(H] K| 2 CHH| ATh 444 10.93 3.66 -
A& 22100420305 H
oo i = 5.07 16.72 - _
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cer i ° 483 16.25 3.23 -
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(H] K| 2 CHH| AT 434 10.68 3.35 -
A& 22100420305 H
cer i ° 5.01 16.60 - -
HetgxHFA)CeH
(H] K| 2 CHH| ATh 452 11.03 - -
Hmx|% T 0.49 5.56 -0.12 -
Z) H|mX|2> 1 KOSPI 90.0% + CD91 10.0%
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> &olsizt (BH9l - 24THR)
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:rL—E— [=) :’l|_‘l J-L,'ooE —'?'—%)I\_f ﬂaxl'n_l' E|_|'7|EHE 7|E|' -’.‘_\-913.:.’7“
T4 XA oS TtER [ HLY ZQ| HEXIAH  7|EF 2l olg
A 7| 18 0 0 0 0 0 0 18
=] 17 0 0 0 0 0 0 17
3. Xpiteig
> XA A S (EHl - 2 2HR,%)
E 3L = TFAHAFZIE EHXIA =0
02|’E <) :'l|_‘l J-L,“ooE —?—%).\_I' —|Ex|'|_|' E7|EHE% 7|E}' Xk),\_f—’g—O_‘H
T2 T4 o oS HetERp [ Eu | MEXIAH  7|EF o2
KRW 365 0 0 0 0 0 0 0 0 13 -4 374
(0.00) (97.56) (0.00) (0.00) 0.00)] (0.00) (0.00) (0.00) (0.00) (0.00) (3.40)[ -(0.96) (100.00)
st A 365 0 0 0 0 0 0 0 0 13 -4 374
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AP HE100M2030Z H M S RHFA)AeH 7|EtH| 272 0.00 0.00
e Y - 0.04 0.04
T;H‘ EMEHYT S 0 0.01 0 0.01
AEAH A-|H|)\ #AE ’ '
T= —
SHA 0 0.05 0 0.05
EEER 0 0.05 0 0.08
KA 2 A 0 0.12 0 0.13
THOf 2| A 0 0.28 0 0.29
T O Xj| A THS| AH(ALEFRI XD 0 0.00 0 0.00
AL ZH2| 2 A 0 0.00 0 0.00
23t 0 0.41 0 0.42
AlQIX 2100M|20305 A M S RHZFANCLS 7|EfH]| 72 0 0.00 0 0.00
Che=Oj0f. S22 0 0.04 0 0.04
S TP
e o 0 0.01 0 0.01
N MHA 22
>3
sH7| 0 0.05 0 0.05
SHA A 0 0.05 0 0.08
KFALS 2 A 0 0.12 0 0.13
THOY 3| A 0 0.12 0 0.13
T = XY AHE THS| AF(A EFRIR]) 0 0.00 0 0.01
UHEALR 22| 3| A 0 0.00 0 0.00
EES 0 0.25 1 0.26
Al B 21004120305 HHEHRHFA) Cedd 7|EfH| 77 0 0.00 0 0.00
ChaOjOf. SIS 2 0 0.04 0 0.04
A VIV
=) ol 0 0.01 0 0.01
N MH|A =58
TE
SHA| 0.06 0 0.05
EEER 0.07 0 0.08
F1) HEO| =XHAHEH(7|ZHE T CHH| H|E
F2) 7|EFH|- 0|2t S| A ZAH|E, S 52| O|E Y ZAHE & HEOAN ZF4N-BtE2Xo = X|EE HEo=2 N jOf-BIH++2 = M elT
AYL|Ch
X gntE U slEArE gl X UHEEZLY S EArE ol
> SH 4~ HEH|E (EH9] - Q1BtAL, %)
oy HE AQIHE HIE Tt
T& = ==
e HIBHET| B4R HE™TY |BYSE HIGH SO - BH++E HIF
o 7| 0 0.0001 0 0.2469
A GHE100420305 AT EERHZFA)
=% 0 0.0002 0 0.2205
F(Class)d vigt
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A QR F100420305 M B RHFA)AY
=% 1.3273 0 1.3273 0.2338
L N 7| 0.9281 0 0.9281 0.2401
AMEHZE100M20305 HHEHRHFA)AeY
=% 0.9283 0 0.9283 0.2239
‘ 7| 1.6783 0 1.6783 0.2528
A 2100420305 H T B KHFA)CL
=% 1.6782 0 1.6782 0.2376
L N 7| 1.0266 0 1.0266 0.2474
MHH 100420305 H XS HRHF A CeH
=% 1.0295 0 1.0295 0.2082
F1) Z 24| -2H|Z(Total Expense Ratio)0|2t 28 & HEO A RESIE 'E4'0F '7|EHH| &' ZUS =Xt AHTIH(2-H| 8 XUH 7|F)
O L HIEZM sl 287|7t & EXIAIL £Elst & 24-H| &5 LIELHL|CL
2) {0y - 5742 H|Z0|2t O} - BB S &R HHTIA(E-H| 8 XYM 7|F)2 2 Lz HIEEAM oY R87(7 5 FXIA7F £
ooy - B8O &S LIEFHLICE
X EAHOl 22 DHEOA LM H| 82 RHEHET}L AHX|SHE H| SR QHESHO] THAtSH =X QI L|C}.

6. SXLXHAHO O LY o}

> DjOjFA 2 S 2HE (T : WOERl %)
A GHZE100M20305 AT S S AHFA) 28
ES o= U ERE
2t Zo 2 2o CEEE, B AL
1,117,916 17,268 1,043,902 15,025 26.06 103.38
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